= % x7F2 O AlET S UEH

@ x=1V2 @ x=22

rr

Al
ol

x7ba o AlEEE W (H, a>0)

x2:a




@ AlEste] 25 7} &

© AlFst 16 o] HE 5
© AlFst 1 0] H

® AlFste] 0 o] =

® @5 04,0©01,80, @ -3

@ @+5,0+4,©+1,®0,@3
@@ +5,©+4,® £1,@ 0, ® §ltt
@ @5, 0+4,©+1,@0,® §lt
® @+5,0+4,© 1,0, ®

(Agste] a7t 5 4

AENA -9 7} Bl S et




3.

ohg Aol [ Jotell Bl Qe 272 Aol AL

() AgE812[  Jolth
N T )

®A.06  @Ao9.06 ® ()9, () £6
@ ()81,()6 ® ()81, ()6

() AlEZ 81 — 81 2 ¥ AFZ - 9
() V62 = V36 > 36 o] F| AFZ > 6




() Va2 & |e g
L) AFE[ JE=7olth
© AFE 100 2] ]oltt,

D (1) 16 (L) 49 (£) £10 @ ()4 (L) 49 (&) £10
@40 1960 10 @ ()-4()7(0) -10
® ()4()49 ) -10

B

() V& = 16 9 FO] AL = 4
L) ABZ49 =49 & F AFZL = 7
() AE 100 = 100 ] Fo] AT = 10




= 9 Sh S T, ath O LD (W a, b AEAolth)

®-1 @1 @3 @ ® 9




it

g

o 0d oF

o o

w | w
S

v VvV Vv vV VvVvyVvYyYvVvyVvVvyy
0
L

02
i
|
w

31 -3 & A FSHH 9 o]BR 9 O] A FLL 3, -3 o]t} E3H
9 o] AlEFLS 232 YetH V9, V9 0|22 9 =3,
-V9=-3°Jth




7.

rd
filo
S
i)
R
nst
£
Q

-

VBT ] 0] ABL a, (1) o] &) AF
o gre?

© -7 @ -1 ® 1 @7 ® 13

VB1 =9 o] AlFE
(-4)%2 =16 & AF
sa—b=3-(-4)




&% 1 3ko] viA) vzt e Ao

@®© +/(-5)? @ (-v5)? @_ e
® V2 ® (VB)?

D, @, ®, OV = /(-5)2 = (-V5)? = (V5)2 =5
@ -/(-5)2=-V52=-5




05 % x = 13 o Algdeltt. £ v el 227

@ x=13 @ x=-v13 ® x= Vi3
@x2:13 ® 2x=13

of" &= x & AlEste] 13 o] 2w, x & 13 9 AlEZolS
et = x2 =13




10.

the Bl AFEE T8 A F UEA YL AL BE DLW

@ 49 O FO| AlFL - -7
O 19A48E -1

© V4o AFE - £2

@ (-5)? o A& - +5

va0 266 Govoe ®©oce 6e6e

©1 9 AFE - £1
© VA AFTZL -2 AlFE - £V2




11. 7h29] 70017} 5em , %017} 3em 91 FAAM T Hol7} e A}
714 o] g o] ol x & Faiu?

Pl AN

_--oCm-~-~ _ z >
\
/ \
I \
3cm - T
\\ I,

/

@ 3cm @ 5cm ® 15cm

V1
@ 15cm ® T5cm

(BRApAR el Wol) = (
3x5=x?

~ x= V15cm

Azt el gol)




12.

th& 133} Zro] 7127} 270]a Ml27} 3¢1
A Wol 7t 2o A4S adgn |

st} o] AAztg ol

ofet,

cCh "
=

>
> HEE: x=9

2T

3 x| Zolg 7ol

4

-

B

22149 Yol &

7}
=, 819 Algd=

SRR WS

TR 27 x 3 = 810] "t AArzH T}
Hol7t 22 FAAE S WEHE & = 81-& TES|ojof Firt

JLe 190t}

shal = Zlolct. 81 9] 4
3 ¥l x9] ol g 7} Ve,




13.

g a3t Zol ARk 1201 AR g

2 AN G Yo7t e AAA g S el
3 ek o] BA2Ge] & ¥l x0) Lol

Fatolat, ¥

~eo-

AALZEe o] Yol g TR 12 x 3 = 36 o] Hr}. JAZLF 5
o7t 22 AAAE S HEHE »? = 36 & WEStoof Fhrt
=, 36 9] AlFZ= T5H B Aot 369 AlEE2 +6 o]t
J=2B2 PAZY 9 ¥ x 9] ol 6°] "k




14. =80l T, a 9 gloz &2 Z27

® 22 @ 22 @)+2v2
@ 42 ® +42

a8 9 A FZLo|BE £2v2 o]tk




Vi




16. (-12)? I AlEE T G AL x, V625 J Alu2 T =5 A=

yat & o, x -2y o 3& Fof

V625 = 25 O] AlFE +5, S5 y=-5

(-12)2 =144 S A FZL2 £12, FF x =12
T * =
(-5) = 12 — (-10) = 22

Lx—=2y=12-2x




® (Vi3)'+ (-v1)’ =17 @)(-V2)’ - (-V5) =3
® («/S)QX(_ %) Sl @ TP x P = 42
@ ‘/@+ (—4)2:3




O -10 @ -5 ® 0 @ 5 @10




19. (-0)2 o FO AT a, V6B 9 2 AFZL b AT T W, atb
of g2 Fsfoier.

(-9)2 = 81 = («9)?2

La=9
V625 = 25 = (+5)?
S b=-5

Ta+b=9-5=4




